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H ok & olctESRE Foicizt | Egetrt Z27F
=T atBE|H 60T 37 130 345
od ol D E] 44 130 300
o ol stolelx| 28 88 200
g sl 80 a0 200
2l 7l ol = =4 500T 14 54 120
OFMI Amat=EA 1,155 1,353 2,640
2l ok OFXTEFIZ 2 H|200T 50 82 160
o 2l MZIE2 15 53 100
UCB SA[EEA 16 17 32
e FFRIA 100C 250 715 1,300
2l & S ZdH[E 400mg 500] 80 606 1,100
kMl T A= 214 277 495
= HIZ2]A 180 89 101 178
£z S 3= 375mg 1C 46 58 100
22t Sasdd 42 58 100
et Hi EFALOI = 30 200 206 333
ZEZLE OfLEESE A 100C 130 168 263
kMl A== 10007 9 16 25
=G HI A 100t 58 73 110
ALE S AH el 99 103 150
et REES! 550 853 1,200
2l 7l Ef2Eal 1T 30 134 185
o ol Z M 80 161 220
ot HEAAEE 400mg 167 392 520
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otEod Motda | Bt | AHeNZL | BEE
ZtAHEM a3 107 25 328
Azed =2 138 50 176
=4 a3 86 32 169
ECIEaps e 120 50 140
T Z 24M400 ME 625 169 270
TEE o 234 51 359
=A[ALO| S E =H| 156 37 322
=Hel= L S 70 17.6 298
=H2l= Aol 75 15 400
sHZES el 70 25 180
HE22H Y 25mg 4l 60 22 173
2| = A (S A} Al 162 59 218
EEZ|A =z 117 58 102
SEM Atot 126 40 215
2| = ELA| SZ 97 28 246
2/ 2FAL250mg 5 145 69 110
o ¢l 21 = 500T r=2 139 60 132
HE| & ofF 40 14 186
2 gl 130 44 195

= el (4 3t) ME 90 39 131
2A8d shst 130 53 145
FIEN gigl 126 22 473
HEAEIN 0| & =3t 39 14 179
Hl & gl 108 40 170
2o 2izd 250mg. 200 100 100
= Mg 68 29 134
22 H200mg Ared 47 15 213
22 H 400mg 35t 50 24 108
2l1E| 2A500mg 5007 —— 51 23 122
ALOLEl 2o} 41 19 1186
M 2510007 il 16 8 100
M 2FXtel AlE 55 21 162
M8 10mg #E 98 18.7 424
M2lx| 2 o4 of 53 15.4 244
MEx28H5mg 2 X 42 13.2 218
MEZA| =g 236 66 258
Mol2d HEl 88 35.2 150
M ER 1C st 189 44 330
Muoje sS4 = H] 725 260 179
M E|® = 500T NE 277 50 454
A EHFOIEI500T ILE 236 50 372
A= 2l gto| 149 67 122
AlHIE[EH = H| 44 2P 100




AlM E| S H 200mg S Z 43 15.4 179
A3 23200mg 100T r2 889 260 242
Al Ao} Mg 49 19 158
M2tk 2 HEICHH 10m e 97 23 322
G Ehel 78 20 290

M| El £tol 78 18 333

OfLfZ 2 A ZZE 212 90 136
op=tA 2, 177 64 177

OFF Al A ZI250mg =2 62 23 170
o}F A AIZI1500mg =2 100 47 113
ofo{E}H| =g 63 20 215

OFAM| | EF A el 184 82 124
oM o EbA = 184 58 217
O}A| = & 1000T Ci = 51 20 155
OFELEI A AMZ 83 31 168

el & st} 1360  60.122 126
HEEEH =g 64 23 178
AEESEH ME 64 26 146

HE|T = Atel 43 16 169

o= ME 103 31 232

ofl 2/ 21250mg 500T T 191 85 125
of 2l 2+ EEE 200 100 100

off ojoff of | g 55 25 120

ol | ol e 54 20 170

S H 24 A= 142 45 216

I3 A1H1000mg 500T AR A 465 120 288
SEHA AME 94 39 1486

2AE A EIHE 200mg 40 10 300
HE olEZ 28 H 200mg 29 8 263
2IFlo| 2 X 2 HE 400mg 50 14 257
2 24| = 400mg 500T Bl 606 80 658
SAEA edad 126 20 530
ol= = =H 500T re | 54 14 286

oj 2 I 2 H 400mg Cis 54 22 145

oj B2 = 2H 400mg CHE 51 17 200

O] = 28 & 200 21 Fl 29 8 263

x| a4l Ef 2 96 35 174

x| 22 A & £3 69 20 245

x| 228 H10mg == 117 40 193
FHH A 100C ZOGH 715 250 186

FrA LR EH & 134 60 123
FH(E2=HHI A odel 69 20 D45
HNE = 16 6.088 163

H ol A == 136 40 240

ZLigl = 103 24 329

FHZI 1C 5zt 60 22 173

2H[ et Aol 103 35 194
BO|EHH AlZE 97 30 223
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2E PR, 103 33 212
A AE 126 48 163
AE41250mg ok 221 88 151
Ze|Lt Chz 122 55 120
222 ot= 145 34 326
EFSIA T 2l Fl 134 30 347

B | & A ek 83 40 108

B =2 LH A2 83 33.3 149
EzpA UE 100 19 426
EE&lE ALE 196 75 161
Eg|AlZl 100mg 500C AtK 2] 236 60 293
U= g|H A X 120 17 606
T2 E]H 607 odgd 130 37 251
T2 E|H20mg ME 178 21 748
EO a2 95 35 171

H 2&l 3007 2RE 130 22 491
HotolH =z 100 37 170
HEMAMEA 400mg sred 392 167 135
=4 32l 161 80 101
ho| & 1000T 22E 70 21 233
5ol 2tAl el 88 28 214
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2 M &5t7p7t Boj oA (Foi oA )] 20T €= % E

e obE O A o3l AL Za7tA [EEaob] SN ESIL 2uff of Al
B Atat | E| Sl X 150mg S (R /EE) 7.000 145,000 101,500 14.5
Syfe] =&10007_|HE(R=/EHE) 15 209 146 9.8
= =H| = 400mg 5007 217 80 1.100 770 9.6
o2 E|H 60T od 9l 2 200 20,700 14,490 6.6
ol = =2m 5007 217 14 120 84 5.0
¥ =tEl150mg 1207 f 3} 8,800 63,500 44 450 5.1
stof 2t 3 2l 28 200 140 5.0
Za|Al 10007 2/ 7l 28,000 194 000 135,800 4.9
el 24 ol 44 300 210 4.8
EfztAl A 10007 24 = 28.000 188,500 131,950 4.7
MELE| 2 330l 15 100 70 4.5
2] 0} sta} 7,496 48,000 33,600 4.5
2ol o4 o] 64 400 280 4.4
3el E 60C At 2] 17,500 110,000 77,000 4.4
EEs =3 2.890 18.000 12.600 4 4
ntauA 120C 2 11,000 61,000 42,700 3.9
EEL: e Ztol 910 4,900 3,430 3.8
Fta A 100C =2 25 000 130,000 91,000 3.6
ME=esA AtA 2| 180 900 830 3.5
Ho|2E ¢ 500g £ & 20,000 99,000 69,300 3.5
Alvt=27l 30g VS 1,000 4.900 3,430 3.4
ol A~ ml 2 AET 1.540 7.500 5,250 3.4
~— =7]= 150T o=t 9,000 42.000 29 400 3.3
oretal A sta 10,800 50,000 35,000 3.2
Hil 2 = st 20,000 90.400 63,280 3.2
i 2|8] 2= 10,000 45,000 31,500 3.2

oj e El =& 12,100 54.000 37,800 3.1
EALFE Sl 1,100 4,900 3.430 3.1

otE gt &5} 13,838 61,000 42,700 3.1
A= =32 1,100 4,700 3,290 3.0
E]L-|CHE 10007 =0} 33,000 140,000 98,000 3.0
2 5| ZZE 11,250 45,000 31,500 2.8
7| obA| AE 55 220 154 2.8
rohak=1 =5 140 550 385 2.8
B{uFE A A 30ml o= 1,350 5,200 3,640 0.7
s 2= &5 290 1,100 770 2.7
e =E 300 1,100 770 2.6
R AL 18,000 66,000 46,200 2.6
o|7HE3E 10g A 1,500 5,500 3,850 2.6
FojelH 2 ek 5,500 20,000 14,000 25
S atot 1,980 7.000 4,900 2.5
Faial o4 ol 1,000 3,500 2.450 2.5
g o= 1,300 4,400 3.080 2.4
231 Al el SH 1,300 4,400 3,080 0.4
NNEELELCE | 1,800 6,000 4,200 2.3
e &8 170 550 385 2.3




o} Xl EH I 2 E| 200T 10.000 32,000 22,400 2.2
oj=et 6,915 22.000 15,400 2.2
AAEFH 6,930 22.000 15,400 0.2
HE 1 140 3,600 2,520 2.2
et Sxae 1,400 4 400 3,080 2.2
E{ujut2 & 10g 2.100 6,600 4,620
Wl 2atzrd 240C 24,000 75,000 52,500
H EAIAM LY 400m 167 520 364
M 29 A 12,870 40,000 28,000
2AH 1,500 4 650 3,255
giol = 2 100 6,500 4 550
OLEH|EL 8,000 24 000 16,800
X eE 120ml 1,500 4 500 3,150
217t EH S E 2 671 8,000 5,600
F4Y 12,050 36,000 25,200
aae 170 500 350
ol A 2{ 8t 15,000 44,000 30,800
=23} C 500 17,000 49 700 34,790
72 250 70 205 144
AZAHE 7,700 22 400 15,680
ZEME St 1,205 3,500 2 450
| i 2 & HE 1,155 3,300 2,310
ol m&X| 3E of = 1,540 4,400 3,080
CIMH|EIFH S el = 5,775 16,500 11,550
2 FZ 9l gyr =z 1,540 4,400 3.080




